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1 H = FHEZXH10/1602 2 13 (F) w2l g
2 S [ES STLUALZERE80mg( LA EF) (F) ST Hlo| 2K 2F
3 H = FHAAX10/160mg (F) ot A x| ef
4 M = FAAAF5/160mg (Z) o A 2
5 | FHA AX5/80mg (F) ot A of
6 H = Cl2EHEE AN Ol A H| (=)
7 M Z= Cl2Ebg1602 2| 213 (LAL2 E (F)HEE|2H 2t
8 Ml = Cl2ZERY80 2| T3 (LALZE}) (F)LE22H ot
9 M = C| A ZX|E10/160mg (ZF) chobx| of
10 H = Cl A X|X5/160mg () CHAbA| <of
11 M Z= C| A X X| 4 5/80mg () CHAbH| of
12 H = Cl2C|EH10/1602 2| 23 2| ZH ()
13 H = Clo|EY5/1602 2| 13 | I 2kH(F)
14 H = Cl2 28 160mg( &A= EH | FH ()
15 H = C| 225 80mg( A= Et) L] TH 2k (F)
16 M = ClQEHZEE AN FIFH| ()
17 H = M7= X &10/1602 2| 134 (F)et=
18 H = H7tZX|&5/1602 2| 13 (F)et=
19 M| z= M7tz x| &5/802 2| 13 (F)et=
20 H = HCl2E&10/1602 2| 212 (F)mclizt=2lot
21 H = Hi2lERE 1602 2] 28 (LALZ E) SHA| 2k( F)
22 H = HIZIERY 80 2| I3 (A2 EE) SHHA| 2F( )
23 H = HE2 AHE & 5/160mg (F)moty
24 H = HEQ ERE 1602 2] 28 (' LUAL= EF) Sh=ridl &K 2K F)
25 Ml = HIQEFS 80 2| 213 (2ALZEY) St &= H| 2 ()
26 M = HIQEHZ 2{AX80/12.522| 1Y St &= 2 ()
27 M= SFAL2 B 160mg( AL EH S FEI AN F(F)
28 M z= SEALE HEE 80mg( EHALZ EF) S FEIAK 2H(F)
29 H = AL 2M160L 2| 1 (LALZEL SHEI A 2 ()
30 M = QAR 240U 2| 27 (LALZE SHH| 2k F)

31 M= SR 24802 1 (LALZE SHE A 2F(F)
32 M = SAlR 2 ZR{AN160/12.562 2| 1Y SHE A 2H( =)
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33 M= WA 2 EAYE0/12. 5221 SHEI X 2H(F)
34 X = SHAEB0E 2| I (UAL2 E UM =X 2H(F)
35 H = SFALERY B0 2| I (LALZE shEdlo| 2mof(F)
36 H = SEFZ B AX80/12. 522 17 SEH 2H(F)
37 M z= H| A ZX|&10/1602 2| 124 ZEHAZSH(F)
38 M = H A ZX|H5/1602 2| 1Y ZEHAEIA(F)
39 M = H A ZX|&5/802 2| 13 ZEHAESH(F)
40 H = AT HFPE B0 2| 12 (LHALZ EL) OFF2A4EZ(F)
4 M Z= A2 ZX|H5/160L 2| 134 CH A 2H( =)
42 H = A2 EZX|H5/80L2| 17 CH & 2 =)
43 H = Ml eby1602 2| 23 (LAt 2E Al k()
44 M = MBI ERYE0U | I (LALZE Al 2F(F)
45 H = M EtZAY A K| oF(F)
46 IS M2 EFEB0L 2| I (LA EL) (F)MEZ

47 M z= MEEHEHAY (F)MEZ]

48 M = otz 2 EH45/80mg () M A X H| 2
49 H = OFX| 2HHZ 2| A 80/12.5mg (F)Ef=H| 2f
50 M= 2| AF2 R 10/160mg YA 2k(F)
51 M = T A2 5/160mg AL 2F(F)
52 H = | A2 X 5/80mg AL 2k(F)
53 H = et 2 EFY5/160mg FHUAE(F)
54 H = eHd}t2 EFY5/80mg FHUAE(F)
55 M= otHrEX5/802 2| 13 SAH 2H(F)
56 H = Of L Z=X|&10/160L 2| 174 ()32
57 H = Of L ZX|H5/1602 2| 17 (F)&38=2Y

58 M = Of L ZX|H5/802 2| 124 (F 324

59 M= ool ZX|&5/80L 2| 174 (F) Sh=af A X| & 2k
60 M z= AAC|EHY5/160L 2| 21 ST ell x| ok(F)
61 S A A2HIZ10/160mg ()M E|MHFO| 2
62 H = ol A 2 HI%5/160mg (F)ME|M B0 2
63 H = ol A 2 H1%5/80mg (F)ME|M B0 2
64 H = AAZERY10/1602L 2| 13 (F)dAFz2[o}
65 M= AAZEY5/1602 2| 213 (F)dAZzz|o}
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66 H = AAZERY5/80L| T (F)d2E=2[o}
67 H = oA A 1 2 X 10mg/160mg o A7 0|AH D] ZH(F)
68 X = ol A 51l 24 & 5mg/160mg ol A7 0| H O] ZH(F)
69 H = ol A 1§ 2 & 5mg/80mg ol A7 0| H O] ZH(F)
70 M z= A A|H|EFY5/802 2| 1Y Aol of| AX| 2k( =)
71 Ml == ol m| ZX|H5/80L 2| 174 o ehm 2 )
72 M= FREXH10/160L 2| 23 (F) 7 7A et
73 H = ZX|H5/1602 2| 1Y (F)7wAef
74 H = FREXH5/8022| 1M (F) 77t
75 X z= OBl AEFALZ EHE 80mg (Z)El 2t ol &l A
76 H = X o] &4 5/160mg Ol A EHO| 2 2H(F)
77 (=S Mol &l 5/80mg Ol AEH}O| 2K 2F(F)
78 H = FHEH XFE10/160mg AFQIX| 2k( )
79 X = 7HH Xt 5/160mg Aol H| 2F( )
80 M| = 7 X4 5/80mg Aol x| ()

81 M = 7t X & 10/160mg AU A k()
82 H = ZHEl Z X| 4 5/160mg Al UH k()
83 M = 7+l ZX| 4 5/80mg AU H k()
84 H = U AX10/160mg (F)dtold A
85 H = A AZX5/160mg (F)vtolE A
86 H = 4l AZX5/80mg (F)etold A
87 M = FAC|2EHY80/12. 52| 1 (F)EEZ|2H <t
88 H = TCIALE2H80/12.5mg (%) mord

89 M Z= ER=INI=RS! TR 4E(F)
ey M z= 5ol ZX|H10/1602 2| 13 sh=EoH(F)

a1 M = StO| ZX|M5/1602 2| 12 k= E0H(F)
92 H = Slo| ZX|M5/802 2| 1Y S 20K F)
93 H = S| ZHH (F)STHto| 2H <
94 S LATBHIEHA /12,5221 (F) 22 32| obA 2F
95 X = AFHEHAMEE0/12.5L2| 2 (F)2A A2 otM ef
% S - ()22 32| obx o
97 SEs =aatESagNTe - (NS ()22 22 ob ot
98 X = AATH5/80L 2| 1 (F)ol=xtot
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99 M = SFALERZ 2{AX80/12. 52 2| 17 (F) L3t
100 M= Z2EZX|H10/1602 2| 1 (F)et=2 2HH <
101 X = So|HHEE{AF80.0/12.52 2| 1 YSHH(F)
102 H = dhH| 2| =& 160mg( ZrAF2 EF) T 2H(F)
103 H = 2| 2| =X 80mg( ErALZ E) TFEH 2 F)
104 H = M| 2H| Z10/160mg TEH 2H(F)
105 X = M| 2HH| A 5/160mg TFEH 2H(F)
106 H = M| 2| 5/80mg TR 2 F)
107 M| z= ot X| M 5/80 2| 1Y o] i & 2k( =)
108 M = FALERE 0L 2 2 (WAL= EF) LAEH f(F)
109 (=S ClElME80L 2| 28 (LALZE) UM A F)
110 M = A ALC|EIM10/160mg UM Al 2k(F)
111 Mz ol AC| &I 2 5/160mg UM A 2k(F)
112 H = oA A LI 5/80mg AM A F)
113 = TUEXH5/1602 2| 2 St FUH2H 2k F
114 H = FUEX|Y5/80L2| T3 ShE R U 2H 2k F
115 M = AEFZX|H5/802 2| 17 BHOIH| ()




